Berechnen statistischer Kennzahlen Losungen

Aufgabe 1

Daten: 3, 1, 5, 1, 8, 6 (Stichprobe)
Ordnungsstatistik: 1, 1, 3, 5, 6, 8
empirischer Mittelwert: © = 4
empirische Varianz: s> = 8

empirische Standardabweichung: s = 2.8284

Tmin = 1
Zoos =1
=4

Zo75 =6
Tmax = 8
R=7

IQR =5
Modus = 1
Aufgabe 2

Daten: 8, 2, 5, 6, 5, 4 (Stichprobe)
Ordnungsstatistik: 2, 4, 5, 5, 6, 8
empirischer Mittelwert: 7 = 5
empirische Varianz: s? = 4

empirische Standardabweichung: s = 2

Tmin = 2
To.os =4
=95

Zo75 =6
Tmax = S
R=6

IQR =2
Modus = 5
Aufgabe 3

Daten: 5, 3, 7, 4, 6, 5 (Stichprobe)
Ordnungsstatistik: 3, 4, 5, 5, 6, 7

empirischer Mittelwert: 7 = 5

Priifungsvorbereitung



empirische Varianz: s = 2

empirische Standardabweichung: s = 1.4142

Tmin = 3
To.25 =4
=25

Zo75 =06
Tmax = 1
R=14

IQR =2
Modus = 5
Aufgabe 4

Daten: 8, 4, 6, 6, 7, 5 (Stichprobe)
Ordnungsstatistik: 4, 5, 6, 6, 7, 8
empirischer Mittelwert: T = 6
empirische Varianz: s = 2

empirische Standardabweichung: s = 1.4142

Tmin = 4
To25 =D
=0

Tors =T
Tmax = 8
R=4

IQR =2
Modus = 6



